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TRP/ELEM/CEU/19
Half-Yearly Examination-2019
cifat (Class) : =% (VIII)
=m0 (Subject) : afds (Mathematics)
Answer Key- SET-A

F-f3@t (Group-A) 20 Marks

w12 Reietre #fize Tee «g :
1. @ @ 401 2
() 112,113 2
(iii) 133,136 2
) () 214=200+10+4 2
(i) 356=300=50+6 2
2. M (Vertices) (1) A(2)B(3) C 1+1+1
31 (Sides) (1) AB (2) BC (3) CA 1+1+1
3. (i) 100-82=18 2
(i) 100-89=11 2
¥-fISt% (Group-B) 40 Marks
4. (a) 4 1
(b) (=@ (Head), (634 (Tail) 1
() 25 1
(d) X +2 =15 X (True) 1
qAdx=5-2
A, x=3
(e) 20 1
® () - 1
13
(g ()50 1
(h)y AC,BD Ly
; 22
(i) % (True) 1
G) (i) 1 1
3 3x4 12
> @ 57542
3_3x5_15 ,
4 4x5 20
e R 24



(b)

(c)

(d)

(¢)

®

(2
(h)

13
(The rational number is) —¢

20
4fF, IACHFEA AT 7 a
.+, NCHCIR P = 2
., a?=144
a?=12?
a=12
-, ftwramaga g 12 v

Let the length of the side of a
square be ‘a’
. Area=a’
or, a’Area=a’

or, a’=12?

or, a=12

.. Length of the side of a square is 12m
1,2,3,4,5,6
(NfeTe AR - 2, 3, 5

G 7 #eTT A8 =

| W
N | —

Sample Space- 1, 2, 3.4, 5,6
Prine nos. one 2, 3, 5

Probality of getting prime number =

= Y ¥

f@#T=0 (Cricket)
(5f™1 (Tennis)
1057-43 G TG 261 7
-, 1057 7Rl ofaef wez |
The number ends with 7
.. 1057 is not a Perfect square.
2x—1=14-x

or, 2x+x=14+1
o, X=35

R s o — et
360°  360°
R 18°

2T TR =

N | =

1+1



(1)

(a)

(b)

(©)

(d)

360° _180°

No. of Sidesi exterion angle w T
TR (IR A

=2 (n-2) x 90°

=2 (5-2) x 90°

= 540°
Sum of interion angle of a polygon

=2 (n-2)x90°

=2 (5-2) x 90°

= 54(°
x = 80°
y = 100°
z=80°
Interval Tally Marks Frequencey
et Bifer sifZera
800 — 810 i 3
810 — 820 /74 3
820 — 830 0
830 — 840 b A/ 9
840 — 850 /Y 5
850 — 860 yd 1
860 — 870 P 3
870 — 880 / 1
880 — 890 / 1
890 — 900 2 4

(15 30

8x +4=3(x-1)+7

or,8x +4=3x-x+7

or, 5x=0
x=0

4@, 2m = 16

m=3§8

24



- ml-1=8-1=64-1=63.
m2+1 =8 +1=64+1=65.
RNATARTIE GRYCE 29 16, 63, 65

There are three numbers 2m, m? - 1 and m? + 1 in a phthagorean triplet.

Let,2m =16
m=28
- mi-1=82-1=64-1=63.

m2+] =8 +1=64+1=65.
phthagorean triplet- 16, 63, 65.

9- faet9l (Group-C) 40 Marks
5
@ 3
108
(b) 108%= 100
(c) T (False)
d 9=1+3+5

(e) 40
() 12°=12x12x12
=1728
Ox
@) 7—-6x e
15 (7-6x) = 9x
105 - 90x = 9x
99x =105
35
X733
Zurerl| 360°
®) TR R = e
_360°
45°
=8

360°
No. of Sides of a polygon= """ i angle

N | =

B | —




(©)

(e)

(a)

(b)

_360°
T 45°
=8
T 3 e ite 240 x Bl e

X -X % 75% = 600

T5x
_ X _600
X~ 100

2 1
1, W R 0.3 «F e ReAfe == 35

1
Yes, 35 is the multiplicative invese of 0.3

4.5 450
45=—x100=—= 0
100 100 A

6x+1 x-3
+l=—-
6

6x+1+3 _x-3
3 6
2(6x+4)=x-3
12x -x=-8-3
11x=-11
x=-1
R RIS 1300 GO IR | SN A1, 4.
(36)*= <1300
sige! 35f ALt = (37)2 = 1369
1369 - 1300 = 69
We find {1300 by long division method.
The remainder is 4
This shows that 36?= <1300
Next perfect square no. is (37 = 1369
There, the no. to be added is 1369 - 1300 = 69.

vt 6




(c) CP =Rs. 5400 and
Rate of VAT = 8%
Let CP without VAT is Rs. 100
Then price including VAT = 100 + 8 = Rs. 108
When price including Vat is Rs. 1.

L
en original price = 1o
When price including Vat is Rs. 5400
100
Then original price = ——x5400
108
= Rs. 50000.
10.
Language No. of Students Infration Central Angle
40 5 5
i —_—== —x360° =200°
Bengali 40 -9 9
12 1 1
i —X360° = 60°
Kokborak 12 6 5
9 1 1
indi —= —x360° =45°
Hindi 9 7738 3 X
7 7
i — —x360°=35°
Tamil 7 7 7
4 1 7
i —== —x360° =20°
English 4 753 T
72
i,
(c) Then CP =Rs. 15,000

Repain Cost = Rs. 450

Totla Cost price = 1550 + 450
=Rs. 15950

15
S.P of the TV = 15950 x (Hﬁ)

= 15950x£
100

=Rs. 18342.50

Lk
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Half Yearly Examination — 2019
Class — VIII
Sub : English

ANSWER KEY (Set—A)

Section — A

1) (a) (ii) students; (b) (i) read; (c) (iii) knowledge; (d) (iv) best friends; (e) Student;
(2) (a) (iii) garden; (b) (iii) 20; (c) (iv) Birds; (d) (i) flowers; (e)beaut iful;

Section - B

3)  (a) (i) useless; (ii) doctor; (iii) new; (iv) Hudroo;

(b) (i) amnesia; (ii) Dr. Chanda; (iii) Ranchi; (iv) Hudroo Falls;

(4) (a) (i) True; (ii) False; (iii) Student will get 01 mark irrespective of the answer he/she
writes;

(b) (i) Bengal; (ii) Physician; (iii) island;

) (i) True; (ii) True; (iii) False;
(6) (i) A tsunami is a very large and powerful wave caused by earthquakes under the sea.

(ii) Bepin babu used to buy books based on crime stories, ghost stories and thrillers.

(iii) The cricket said this when he realised that the winter is coming and he has nothing to
eat. He said this because he was worried that he would die of starvation.

(7) (i) Tilly's family came to Thailand because it wasa part of their plan to celebrate
Christmas. They lived in South-East of England and were vacationing in Thailand.

(ii) Finding no food the cricket decided to go to the antto ask for help and shelter.
He promised the ant to repay the borrowed food on the next day.
(8) (i) young/silly; (ii) her; (iii) gave; (iv) The; (v) with; (vi) was; (vii) Andaman; (viii)
can;

Section - C

(9  (A) (i) (c) one’s own mind; (ii) (d) harmony; (iii) (b) ignorance; (iv) (d) flexible;

(B) (i) and (ii) — Multiple answers are expected from students.
(10) (i) In Bridport; (ii) Rawat; (iii) Hundred and one years old;
(11) (i) The skylark; (ii) Zulfikar Ghose; (iii) Macavity, the mystery cat;
(12) (i) Schools should stop treating all the learners as ordinary. They should not follow old
mechanical methods of teaching. They should try to discover the hidden talent in each learner
and encourage him to do his best.

(ii) We can learn about true friendship which was between the Princess and the bird. We
can also learn about the theme of liberty. The truth about freedom is expressed by the use of
symbols of wings, wide blue sky, green rice growing in the fields. This ideal of the freedom is
the moral lesson of the story. It is the real and true secret of happiness.

(iii) The giant did not want to share his happiness with anybody. He wanted to enjoy his
garden all alone. He did not even allow the little children to enter his garden and play there. That
is why the Giant is called selfish.

(13) (i) Imperative Sentence; (ii) me; (iii) into; (iv) Past perfect;




(14)
(a)

(b)

(15)

(16)

To

The Headmaster

School’s Name

Subject

Respected Sir

Content

Date, Place

Complementary Close

Or

Sender’s Address

Receiver’s Address

Date

Salutation

Content

Complementary Close

Title of the Story

Content

Title of the Paragraph

Content

[N.B.:- In case of Q. No. 14,
students.)

15 and 16 multiple types of answers are expected from the




